S5 EE FRITHETE (D) LHRAKETE @A A4 &KE SFBEAHTH SRS EE FERTETE (R LHR--AKETER @®---A A4 3K[E] AFIS4E4H 1 H
4 A 5H 6 H 7H 8 A 9H
H (R 17 L H R 17 * H (MR 17 * B A 17 * B A 17 % H |mn 17 *
A\ s ) KIBER  A¥ BRESE 3 EERHD
1| + 1| A 1| K |AEar 7 — LTk 1|+ 1|k U | & |50 Garereon amo)1T)
‘ o BIEENT A L (Bffi~— 7 WLH) 4—
2 | H 2 |k 2 | & |NEHEEZ 2 | H 2 |k 7°‘/-/\4x7~»ﬁ§1;ﬁ 2 | +
3| A 3|k |BERRAR 3| & 3| A IHIRBED ER I NI e A O S R 20| 3| A
. , . e _ A
4|k 4| K |HEVDHE 4 | H 4| k| HIERBEO 1| & |HA—Fv "t 27—1©® Il = N N S LI o d)
5 | K |EIAAEBRIEE (8:30~) 5 & |2E8bnH 5| A |[IREHERZO 5 | K |HIERBED 5 | 1 5 | &k
6 | A& 6 | + | 3FEAKEMRR 6 | & |NFHE 6 | K |HIEBEO 6 | H 6 | 7k
71 4 7| H 7| A& 7| 4 | SFERH (HGR%Z) T H 7
8 | + 8 | I |EfEREHAT 8 | A g | 4 |3FHR - MARR 18- 2ERDT2 5 | 4 8 | 4 |34
2 e e
9| n o | % 9| & E%%%%%% 9| 9 | K 9 | & | 3EMEB MEEIRITREER
10| B |[Kis el mlet Aeatuem A | 10] K 10| + |#Ea ) N—H 1 10| A 10 10| A
11| ok [RESE R EEDRT BHEC B ) ok D - (REER) (TR 1| A | 1 Lo | 1| BoE RO
12| K& i@iﬁjffﬁ GEZE%?%E%K@) VEAZ g | 4 12| A 12| A& 2] + 12 | k |30EAEERRITO
13| & PRI 1 %@ 13| & |2tk GEFEERN) 13| k 13| & 13| A 13 | 7k |30[EIAAEFHATO
| @ RIS T Ay @Ry W k| 1 2MHRE 3E LIRS || 1] @ 1| A 14| & (B0 NITD
15| + 15| A Rt 2 k@ PHRS 15 | g |PIBEESAEOHO 15| + 15 | &k |FREFFR - 2 —EHET— P 15 | 4 244K
16| A 16| & [FEEED M 16| 4 |FHESSUEOHO 16| 1 16| & 16| & | GBI B ERRR
UEERHES (EASLKFAmER) 5
1 A 015 50~ PIAA A ZE RS 17| & | PHFHER 17| + 17| A o H 17| A 7| A
18| k& |FM 18| A |HHEBEEQ 18| H 18| & |FM 18| 4 18| A |#EDOHR
19 | Kk |FHEBHES 19| & |[FHEED 19| A |RT7 T4 7R 19| K |V—F—ikEs U 7 AT 19| £ 19 | k& |FM
20 | A | bty Lk (DI AMET > 7= 0 90 | 42 | 3 45 TR RIER 20 | o M 20 | K KRR st 20| B 20| &
21 | & |HSEi ek A 21| A 21| &k 21| 4 %é{ﬁ%wfﬁﬁﬁﬁgﬁi%ﬁﬁm%ﬁﬁ 21| A |EZM - MEAEFEE (8/19~8/29) 21| &
HEEBBME AESSIEHHES ,
22 | + 22| A 1555 % 6 hizi i = 22 | K 22 | + 22 | k 22
23| R 23| % %éfﬁ%'{wﬁﬁ‘%ﬁ4%/x 6 7 ly|a 23| 23 | 23| + |#ksyo A
Faf2O SinEEs
20 A s ipsmna0 Gk - axamme) |2 24| + 21| A 24 | & 24| H
25 | k| HRAHEZO 25 | K |FHRZ 25| H 25 | k 25 | & 25 | H | FHIZEMHES
A = 20 24,
26 | 7k | B BpHED 26 | 4 |PVHHIER B (k) % | A 2% | A % | + 26 | K | - REOWER (FR)
27 | A 27 | & | 3R - BE AR 27 | .k 27 | A 27| A 27 | K | (PERESRARE OHF1T - F18)
3 R K B i e - o
28 | & ks 2 KD 28 | H 28 | & 28 | 4 28 | A 28 | A | (EESRETOHTIT - T TIHA)
29 | + |BBFIO R 29 | A |NEHEZO 29 | K 29 | + 29 | k 29 | & | (FERESRIRE OHL)
30| B 30 | sk 30 | & |WikEED 30| A 30 | 7 30 | +
31| /K [IRFHEZ 31| A 31| &
) G| ] A A A
| LAEr |t o e e
T T TR ) N FH




